EARAROBREBRT —5 XN—ZXBISH—F

202418198 (&) 10E#6tE5H

| R NS ek

=
==
75N

PSR

‘(fﬁ} W ‘I%EH?’JF&] | & 1500 =

[AE%] 1 7% :1,000,000 § ~ 237 :400,000 @  37&:250,000 3  43&:150,000 @ . 5 3&:100,000 M

B %R B FrE R/ I HE %F (T8 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
~ o4 | BRI 1:37.6 1-1-1-1 | 39.7| - 1 477 | SIEEH #61E)
118 Evbadqr 5.0 =) ) EBEE
R:O0J947 #:7IIIIVE 1 D=5
R - KREHHEZ :38. =EFAE . = RAF (ot)
2|5l 5| 9105227 S VT | e Yo |
R:x2oV0 B:LAX7EAIL RE B
YL » 4 | WOHER 1:39.4  [10-10-10-10{ 39.1 | — | 10 | 436 |PUHIEEE (f6515)
3 6| Tvvr3O0—X e 540 @ @3 | KAJIMOTOHD (#)
RiZAEIWN=T §:5vF—2FUU N
2 s 4 | BBDS 1:39.5 6-5-5-4 | 40.2| - 8 | 433 |/\AES (llE)
41101 |7AVXDYP/EX 540 /2 @) | EEXE :
RiIUIA9—2 B:IAPAI—FI & 2
55 8 4 | EEHHEKX 1:39.7 5-6-7-7 |40.1| — 7 86 | FHF (#HotE)
5/7|9|TTANAST 54.0 a1/ W | BEIE
R:TUA—=Y H:hHYFrFv3 i &
< o 6 | BEZE 1:39.7 9-9-9-9 |39.6| - 3 | 478 |WLFEE (#618)
ol 2| (¥ImYN= * 5.0 N\F) (+3) () RI—T271 b
R:9—RLRDIL 8:RU—LT—JLR IANAHIS
= P ty 7 | HEEs 1:39.9 3-4-33 |41.6| - 6 | 523 | ML) (HEHE)
7178|733 bAF—Y v 77| 5.0 ) #) | ) LyIz
RIRVIRTAvIIFUT— BIN\VIVE—HY BLEKS
S . EE 2 -8-6- - ZARE ()IE)
sl 4| E-E—TUyI— R Eos | FEES |2 ’ ;‘Zj) SREET
RIZVGVEI )T BIAIA RIS
S s 9 | HEAS 1:40.4 7-7-8-8 [40.6| — 5 | 478 |FHEEE (1D
gkl 3 | E—E—NYFaD # 56.0 2 1/2) (+6) (ﬁk)ﬁl TF
RE—E—ALSY BE-E-FLYr— BRSNS
sy oo w6 | )3 1:46.0 2-2-2-5 |47.7| - 2 | 479 |MEA (Bet8)
10810 Y—7AZ/EY P 5. (54) Cy | @ Ty
RINVIRTAvIAUT— BS54 RND— SYE—H5
£ s 4 | AR - - - - - — | BHE (o
iy 7| T—ARTZT— 54.0 (BH) () |BIEZ
R:PIAYVI—R B:FUFRVYR LpE &
® 11— —@BIEfI
13—7F— 11,10,8,5,9,1,3,4,2,6
20—F— 11,10,5,8,1,9,3,4,2,6
30—— 11,10,8,5,1,4,9,3,2,6
40—F+— 11,5,8,1,10,4,9,3,2,6
@ Ih\R=E
B B 1 1508 | | 94 & 5-1 2909 & 5-8 550/ 3iEE 5-6-11 38,480M
B B 1 110 6-11 9,070M B 8-5 580 EL| 11-5-6 76,990MH
5 1904 5-6 18,340/ 5 & 5-1 700M
6 3,160 5B 11-5 820/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




